Scribe Notes October 21, 2009
Homework: Print out assignment, python do the 10 question problem (ask someone to choose a number between 1 and 1000, find out the answer in 10 questions), reread Dijkstra

· Started off with loops in python, keeps going until you give it the answer it likes (ex. Do you like python? Keeps asking you for the answer until you say yes), if then else statements

Ex While Statement:

#!/usr/bin/env python
#
# while statement
#

answer = “no”
while answer != “yes”:
	answer = raw_input(“Do you like Python? “)
	if answer == “yes”:
		print “That is great!”
		print “I completely agree”
	elif answer == “no, I prefer K”:
		print “An awesome language, but not for this class.”
	else:
		print “That is not the right answer! Try again.”

· != means not equal to, elif means else if
· == means is this the case or not

Ex Deleting elements from a list:

#!/usr/bin/env python
#
# Deleting elements from a list

zoo = ["monkey", "tiger", "eagle", "parrot", "tiger"]
print "The zoo has the following", len(zoo), "animals:", zoo

new_animal = raw_input("Which animal would you like to delete? \
Input the name of the animal: ")
if new_animal in zoo:
     zoo.remove(new_animal) 
     print new_animal, "has been deleted"
else:
     print new_animal, "cannot be deleted because it is not in the zoo"
print "The zoo has the following", len(zoo), "animals:", zoo

· Machine with 2 inputs, outputs are: 1 if in 1=0, in2=0
1 if in1=0, in2=1
1 if in1=1, in2=0
1 if in1=1, in2=1

In 1 -------  N
				         A	          1 if in1=0, in 2=0

In 2 -------  N
	
							
					A                    1 if in1=0, in2=1


						   A	       1 if in1=1, in2=0



					    A		1 if in1=1, in2=1


· Dijkstra chapter
· From the Netherlands, started programming to conduct calculations, at the time programming was shunned by the science world
· Helped build a computer
· Wondered how two processing units were going to interact with each other if they need to use the same wires
· Processor sent one character to printer, who sent it to the memory location
· If processor writes next character before printer sends it then the character from before might be lost because printer works slower than the processor
· Processor tells printer to wait until the “flag” is green
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